N = 0l & At & M A

20209 = 20la LetsH WAEIS ~ 2E2S
2EM: UBIS
g 1S dE=sAAE Jlgtds
& HEEXNCUE 2SUHAS (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
NE1s 230,011 158,337 71,674
VE1sS HESKHE JIgr2 3t 170,809 137,373 33,436
HESAHEH 2GS 170,809 137,373 33,436
FURXE 22X 12,376 14,200 AN 1,824
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Os&ddN= 300,000& *28H x200% 16,800
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FAMRA & X2 15,621 16,603 A 982
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ORodH =22 110,000& = 12& 1,320
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O&E A 22l 670
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QrEs 24 3,222 2,900 322
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O=AIl EH 800,000& 800
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N = 0] &F AF S & AN A
2020 & =20 A LB H T/ IS ~ dHE2S
2 UH2E
H: W)H2E HASXHEH JlEt2 5
e HEEXNME SHLHA S (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
WA= 219,878 136,361 83,517
oS HE=EXAHE DBt 157,771 116,373 41,398
HE=EXHEH 2 UA S 157,771 116,373 41,398
FOXX3 2IEEX 29,860 21,530 8,330
201 Yot Y| 17,860 12,530 5,330
01 AP 2t 2] H| 17,860 12,530 5,330
OFoXXE Tz 2ZASE 11,000,000 11,000
OO0l XX3 3loaA £
10,000& 50 » 12& *90% 5,400
OEEZ2 HZ 500,000& 500
OZMHEREY 29 960,000& 960
301 et M= 9,000 9,000 0
12 J|EtE2 A= 9,000 9,000 0
OZ2MZ228 XSS AHAF A HI2 A
10,000& x753| x12& 9,000
405 KHoHFE S HI 3,000 0 3,000
02 T A 7| 3,000 0 3,000
OO0IEA T A2 =AY 15,0002 x200H 3,000
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Os&sY 300,000 x21H x12& 75,600
OsSHANH= 300,000 x21H *23| 12,600
OSHI 9 EALGE 20,000 x21H 122 «23]| 10,080
OetaE M= 25,0003 *135H *23| 6,750
HMRX ¥ XL 18,951 15,800 3,151
201 et 9| 18,951 15,800 3,151
01 AP 2t 2] H| 3,221 1,440 1,781
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OZ2J/&8X)I| Xz 85,800 x12& 1,030
O&FLD| X s 45 900& ~12& 551
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02 Z2=2=2494| 15,730 14,360 1,370
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283 HA 150,000 150
W uel)] SR 700,000 700
OXe SX(HMIIX L&) 4,000,000 4,000
OFA A28 X 1,680,000 1,680
OFAMN HII= 8,000,000& 8,000
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2AM: WHIS
M DFIS YHSNLE I8 25
Sl WYSXNME SHYAS CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFEA 22 |X 4,414,000 4,414
OFAL HIlg 15,000, 000& 15,000
OFEAN NERLRES 300,000 300
O&AMN & -ot=E2 1,300,000 1,300
O2AE RANE=> 1,000, 000& 1,000
OLgAE JIsEE 110,000& 122 1,320
O3BAIE= HI| ¢dEH 1,000,000& *23l 2,000
OXgZ=EZE A s& =3 800,000& 800
307 21201 A 1,980 1,980 0
05 RIZt2IEt = 1,980 1,980 0
O2+=3stAld A& 22 165,000& =128 1,980
QAEs 24 3,138 3,078 60
201 £B-2%H| 3,138 3,078 60
01 At 22l 3,138 3,078 60
OQUJAMNA H = 486,000& 486
OdoldESH EE 540,000& 540
OdiolMEZeH EU 765,000& 765
O=AIl EH 855,000 855
oA ElH 432,000& 432
OdEINE =28 5,000& 124 60
=2 g9 #s I 500 500 0
301 LA S 500 500 0
12JIE24 3 500 500 0
O=8 Nsy4d &5 HFItA 24 500,000 500
HYR2FZH (WEH3S) 58,224 19,961 38,263
JlE&dl 58,224 19,961 38,263
JlE2ztl 58,224 19,961 38,263
201 2et2 Y| 11,884 11,175 709
01 At 22l 9,084 8,375 709
ORNE2E+=EHl 5,282,000 5,282
OJlege=d Sl 3,802,000& 3,802
02 2324l 2,800 2,800 0
OF St ¥=1 2,800,000 2,800
202 04 Hl 36,960 0 36,960
01 = LH 4 Hi 36,960 0 36,960
OJlege+=a80utl 36,960, 000& 36,960
203 R =&t 9,380 8,786 594
01 122 =8 5,940 5,346 594
OJZ2g 2= 5,940,000& 5,940
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= o
N & 0 & AF &2 8 A A
20208 & =20l A LEHSIH B 1IS ~ LE2S
SN gels
M Yels HEESXLEH Jlet2 st
Sl BISXNME 2SYUAS (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
gols 276,970 182,105 94,865
gels HESKME J|et2 3t 213,807 161,073 52,734
HY=SXNHE 2GS HA S 213,807 161,073 52,734
FOIXE 292X 11,860 11,520 340
201 L2l 11,860 11,520 340
01 At 22l 11,860 11,520 340
OFQUXXS T2 2A+Z 8,960,008 8,960
OFUNXSI A slolas 4o
10,0003 x25H 123 «80% 2,400
OsE= M 500,000& 500
= -8y g3 N 179,430 129,030 50,400
301 LEHZ 179,430 129,030 50,400
05 & -0 - BHEESENS 179,430 129,030 50,400
Os&E=+¢ 300,000& *36H x12& 129,600
Os&ddN= 300,000& 369 *23| 21,600
Os&slo #42 20,0002 *36Y «12& x23| 17,280
OptEE 43 25,0003 219 #23| 10,950
EMNIX & Xzl 17,605 15,883 1,722
201 Let24d] 17,605 15,883 1,722
01 At 22l 3,515 1,649 1,866
ORodH =22 1,649,000 1,649
OF A LA 100,000& 62 600
O3J18&FJ| gx=z 88,800& 123 1,066
OFM1 343D ¢ 200,000 200
02 =224l 14,090 14,234 A 144
O& AL 22| 1,100
d3x A 200,000 200
SY3 Fa 200,000& 200
H- e 2 X 700,000& 700
oxtg RX(MIIX L&) 4,000,000 4,000
OFEA 22 | 1,905,000& 1,905
O&AN HIl= 6,000,000 6,000
O&AMN & - st=E2 700,000& 700
OFAN A0 & =3 385,000 385
QIAER 24 4,412 4,140 272
201 Lete H | 4,412 4,140 272
01 At 22l 4,240 4,140 100
OSIJAMA T2 400,000& 400
OdoIMERIH &8 600,000& 600




SN YRS

M. gels dE=SANHEH J18-23
o4 HYSXNHEH 2 UHA S (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2

OdioldEgH EY 1,360,000& 1,360
O=AMIENH 1,140,000& 1,140
OWAEH 640,000& 640
oOjrEBIHE =2 100, 000& 100

02 35244l 172 0 172

OAlE3tE )| gyl AIZ22

14,3003 x12& 172

F0 s 25 XA 500 500 0

301 dEtE X = 500 500 0

12 JEtE &2 500 500 0
OO0l sy g5 ZIIA 24 500,000 500

HHSHAH (Hels) 63,163 21,032 42,131

Jl=23tl 63,163 21,032 42,131

Jl23Hl 63,163 21,032 42,131

201 L2 Y| 13,423 12,800 623

01 AP 2t 2l Yl 9,423 8,800 623
ORNM&g 2| 5,276,000& 5,276
OJI=2ge+3 3| 4,147,000& 4,147

02 352494l 4,000 4,000 0
oREz 4,000,000& 4,000

202 04| 40,320 0 40,320

01 2L Y| 40,320 0 40,320
OJI2g2+=80 bl 40,320,000 40,320

203 R =&lY| 9,420 8,232 1,188

01 J|2A2I PR =Y 5,940 4,752 1,188
OJ#2dd =8| 5,940,000 5,940

02 RN R =AY 480 480 0
OFJAINNMAR =AY 480,000& 480

04 ENSIHRF=XY| 3,000 3,000 0
OFN2IGIRF&Y| 3,000,000 3,000




= o
N & o & AF & H A A
20208 & =20l A LEHSIH B 1IS ~ LE2S
2AM: oteHs
M ofttis HFSXHEH Jlgt2 st
Sl BISXNME 2SYUHAS (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
StEH1s 226,102 143,150 82,952
otetHis #HESKXIME Jlgt2 st 162,989 122,110 40,879
HY=SXNHE 2GS HA S 162,989 122,110 40,879
FORKE 2YBE 13,930 11,654 2,276
201 L2l 13,930 11,654 2,276
01 At 22l 13,930 11,654 2,276
O XXz T2 ZFA==Z 11,000,000 11,000
OFLUXXAAE sAFA = 2,430,000& 2,430
O=22 & 500,000& 500
s -8y g3 N 128,130 91,730 36,400
301 LEAF 128,130 91,730 36,400
05 S& 0% -S43 128,130 91,730 36,400
os&=+¢ 300,000& x26F x12& 93,600
OsZ&NHS 300, 000& 26 % x200% 15,600
Os&3slo &2 20,0008 x26% <23 128 12,480
Og&EE A3 25,0003 1299 *23| 6,450
HMRN L Ry 16,287 14,436 1,851
201 LBt2E| 16,287 14,436 1,851
01 At 22l 2,886 1,620 1,266
OR2FH ==& 1,620,000& 1,620
O3J18&J| gx=z 88,800& 123 1,066
OFM1 83430 ¢ 200,000& 200
02 =224l 13,401 12,816 585
OF At 2e 500
d3tx A 100,000& 100
SY3 Fa 100,000& 100
o= - A= ON 300,000& 300
OXg X (20h) 4,400,000 4,400
O&A 22 |X 1,876,000 1,876
O&AN HIl= 5,700,000 5,700
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QIAER 24 4,142 3,790 352
201 et 4,142 3,790 352
01 At 22l 3,970 3,790 180
OSIJAMA T2 570,000& 570
OdoIMERIH &8 540,000& 540
OdoIMERH EY 1,090,000 1,090
O=AMIIEU 1,020,000& 1,020
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N = 0 &8 AH Y H N AN
20208 &= =204 LBl H E 1S ~ 2E2S
2A: stH2s
M. StE2s HE =KX HEH Jler2 3
el HISXME SE A (S &2)
S EB B (EH) - MBAY - BAS o AF o San H D2
otct2s 265,163 182,921 82,242
olH2E #HAEEXHE I35} 201,600 160,794 40,806
HEEXNLMEH SHLHA S 201,600 160,794 40,806
FOIXXE SHEX 28,200 29,946 N 1,746
201 et A | 14,160 16, 106 A 1,946
01 AFR2t2l Yl 14,160 16, 106 N 1,946
OFUXNXE Z2 08 ZA=Y  8,960,000& 8,960
OFQUXNXRAEZ &M ¢
10,0003 *25% x123] x90% 2,700
O=2Z2 Mz 500,000& 500
OXSTANS 2 =2H| 2,000,000 2,000
301 dEtE A= 11,040 11,040 0
12 JIEtE & 2 11,040 11,040 0
OS2 M2 X3S ALAH AlHI 24
11,040,000& 11,040
405 XtabF S| 3,000 2,800 200
02 = A7 3,000 2,800 200
OSSN T AP 3,000,000 3,000
s - HtE g5 & 147,700 105,600 42,100
301 dEtEX = 147,700 105,600 42,100
BCSE -0 -EHEESEMN= 147,700 105,600 42,100
Os&+Y 300,000& *12& x30H 108,000
Os&EANHS 300, 000& *200%*30H 18,000
OS&3 9 MG 20,0003 *23| x 128 x30H 14,400
Ot A= 25,0003 * 1469 »23| 7,300
HMSA L It 20,588 20,508 80
201 LEt2 Y| 20,588 20,508 80
01 AFR2t2l bl 3,035 1,769 1,266
ORo&dH =& 1,769,000& 1,769
O2JI1&8d)] Lx& 88,800& x12& 1,066
O2NM1D 33430 7Y 200,000& 200
02 35244l 17,553 18,739 N 1,186
O& A2 855
¥ HA 55,0003 55
A =L = | 800,000& 800
Oxg RA(MIX Z&H 3,200,000 3,200
OFAMN A2 X 2,878,000 2,878
OFA M2 9,720,000 9,720
OFAN & sl 2 900,000& 900




SN stHes
M. StE2s HE =KX HEH Jler2 3
@ HE=SXNMEH 2GS UA S (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
AR 29 4,612 4,240 372
201 Bt H | 4,612 4,240 372
01 AP 22l Yl 4,440 4,240 200
OAAMA A 540,000& 540
OdioldEZely ¢ 600,000& 600
OdioldEgH EY 1,320,000& 1,320
O=AIIEYH 1,140,000& 1,140
OHAE|H 640,000& 640
odlgle =2 200,000& 200
02 33249l 172 0 172
OREINE LD 2AHY AMEE
14,3003 *12& 172
=0 e 25 A 500 500 0
301 deEtE X = 500 500 0
12 JIEtE &2 500 500 0
O=0l sy g5 ZIHA 24 500,000& 500
HAESHAY| (olE2s) 63,563 22,127 41,436
Jl2& bl 63,563 22,127 41,436
&l 63,563 22,127 41,436
201 LEt29| 13,823 13,301 522
01 AFR2t2l bl 9,323 8,801 522
ORNM2d+2H| 5,176,000& 5,176
OJI=2g2+3 2| 4,147,000 4,147
02 53294l 4,500 4,500 0
ORE=z 4,500,000 4,500
202 (4] 40,320 0 40,320
01 2L Y| 40,320 0 40,320
OJI=2gd 230 bl 40,320,000& 40,320
203 &R =AY 9,420 8,826 594
01 J22A AR EAY| 5,940 5,346 594
OJ|Z22dgR =AY 5,940,000 5,940
02 AL R E A 480 480 0
OFIAINNMAR Y| 480,000& 480
04 ENSIHRE=XY| 3,000 3,000 0
ORANSELERFAY| 3,000,000& 3,000




A

20208 &= 204 LA WHIS ~ 2H2S

AN MEIS
M ME1s dF=SXNEH JlgHd
Sl HH=TME SY LA CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
MBS 285,005 187,330 97,675
MBS HESKHE JIgr2 st 217,752 165,705 52,047
HESAHEH 2GS 205,755 153,708 52,047
FURXE 22X 16,900 13,800 3,100
201 L2l 16,900 13,800 3,100
01 At 22l 16,900 13,800 3,100
O=2XXa T2 ZA+=2  11,000,000& 11,000
OFQXXE slg&FA =& 5,400,000 5,400
O=22 & 500,000& 500
s -8y g3 N 168,320 120,720 47,600
301 LA F 168,320 120,720 47,600
05 8% -0 -tHESE43 168,320 120,720 47,600
os&=+¢ 300,000& *34H x12& 122,400
OsHaNH= 300,000 x34% x23| 20,400
Os&3slo 42 20,0002 *34H <128 +23] 16,320
Oostazgaa 25,0003 184 x23| 9,200
EAMRA & e 16,583 15,468 1,115
201 LBt2E| 16,583 15,468 1,115
01 At 22l 2,358 1,560 798
OR2FH ==& 1,560,000& 1,560
O3J18&J| gx=z 24,9003 +2CH 128 598
O2Md1 dFAsI ¢ 200,000& 200
02 2324l 14,225 13,908 317
OF At 2e 860
d3tx A 170,000& 170
SY3 Fa 90,000& 90
O - PN 600,000& 600
Oxg SX(HMIX Z&) 4,000,000 4,000
O&A 22 |X 1,930, 000& 1,930
OFAL HII& 6,600,000 6,600
O&AMN & -st=E2 450,000& 450
OFEA A48 =& =54 385,000 385
R 2F 3,452 3,220 232
201 YEr2 Y| 3,452 3,220 232
01 At 22l 3,280 3,220 60
OYJNA M= 500,000& 500
OdoIMERIH &8 560,000& 560
OdoIMERH EY 760,000& 760
O=AMIIEU 800,000& 800
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Kio

Hl w

H3r
Wikd
RIS

Off &t 24

2N

3,000

3,000
3,000
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3,000,000




N = 0l & At & M A

20208 &= 204 LA WHIS ~ 2H2S

A MBS
HE: NS HW=XME /225
Sl BISXNME 2YUAS (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
AE2S 201,947 129,580 72,367
ME2E HESKME JIgr2 st 144,147 109,236 34,911
HY=SXNHE 2GS HA S 144,147 109,236 34,911
FOIXE 292X 13,600 10,485 3,115
201 L2l 13,600 10,485 3,115
01 At 22l 13,600 10,485 3,115
O XXz T2 ZFA==Z 11,000,000 11,000
OFLUXXAAE sdFA == 2,100,000& 2,100
O=22 & 500,000& 500
s -8y g3 N 113,640 77,860 35,780
301 LEAF 113,640 77,860 35,780
05 S& 0% -S43 113,640 77,860 35,780
os&=+¢ 300,000& x23F x12& 82,800
OsZ&NHS 300,000 23 x23| 13,800
Os&slo &2 20,000& 23«12 +23] 11,040
Og&EE A3 25,000& 120 *23| 6,000
EAMRA & e 13,059 17,315 N4, 256
201 LBt2E| 13,059 17,315 N4, 256
01 At 22l 2,643 2,730 ABT7
O&=D| gtz 40,000 20 122 960
ORodH =2 885,000& 885
O3JI8FI gtz 24,9003 20 x128 598
OFM1 BEA38HD ¢ 200,000& 200
02 3323l 10,416 14,585 AN4,169
OF At 2| 600
SY3FL 200,000& 200
H- e 2 X 400,000& 400
OXg X (20h) 3,600,000 3,600
O&A 22 |X 2,596,000& 2,596
O&AN HIl= 3,000,000& 3,000
O&AMN & -st=E2 620,000& 620
QEs 29 3,348 3,076 272
201 L2l 3,348 3,076 272
01 At 22/l 3,176 3,076 100
OUJAMNA H = 486,000 486
OdoIMERIH EE 540,000& 540
OdioIMERIEH EY 765,000& 765
O=2AMIIEH 855,000 855
OHAEY 430,000& 430
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= A
A & O &8 A & Ml M
20209 &= 20la LS WFIS ~ ZH2S
SN BYIS
M mYis #E=XME I
ool HE=SIME 2 WA S (9 ® =)
= - — L=
SA B ER(EN) - AR - BES of & o4 San HIDZ2
1S 207,897 134,809 73,088
ZE1s dE=sRME JgL s 144,472 113,396 31,076
HE=SAUEH 2SHA S 126,292 98,936 27,356
XXz 2HEX 11,890 11,840 50
201 fEt2E | 11,890 11,840 50
01 AtR 2t 2l | 11,890 11,840 50
OF2UXXa T2 08 A=Y  8,960,000& 8,960
OF2URNXASE 3AFA =&  2,430,000& 2,430
Os&E= HH 500,000& 500
s -2 g5 N2 93,820 67,220 26,600
301 LetEd = 93,820 67,220 26,600
068801 -t¥ES2d= 93,820 67,220 26,600
Oos&+4< 300,000 x19E «12& 68,400
Oos¥YM= 300, 000& 19 »23 11,400
OS&z F4&+=g 20,0003 198 «12& »23| 9,120
ogtaeEas 25,0003 x98H »23 4,900
BMEX R RE2el 16,904 16,298 606
201 fEt2E | 16,904 16,298 606
01 At2 2t 2l bl 3,066 1,800 1,266
ORZH =8 1,800,000 1,800
O3J18&8I Xz 88,800 x12& 1,066
O=2M1 3230 72 200,000 200
02 524t 13,838 14,498 A 660
O&E A2l 610
datx Ea 200,000 200
=83 Fa 110,000& 110
Sl eI 8 300,000 300
Oxtg | (MIIX EE) 4,000,000& 4,000
OFA 22 |X 1,728,000% 1,728
OFAL &= 6,700,000& 6,700
OEM & otk 2 800,000 800
Qs 2 3,178 3,078 100
201 fEt2E | 3,178 3,078 100
01 At 2t 2l bl 3,178 3,078 100
OBl&AMA H= 486,000 486
OdlolM=gly & 540,000& 540
OdoIMEEH EU 765,000 765
O=Al &Y 855,000 855
omA &Y 432,000& 432
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= A
A & O &8 A & Ml M
20209 &= 20la LS WFIS ~ ZH2S
SN ZYes
HE: ZYos FW=AME 1225
ool HE=SIME 2 WA S (9 ® =)
= — = s
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
adE2s 289,109 188,322 100,787
ZE2s dE=SRME JgL s 221,137 164,440 56,697
HE=SAUEH 2SHA S 221,137 164,440 56,697
XXz 2HEX 12,460 13,830 A 1,370
201 fEt2E | 12,460 13,830 1,370
01 AtR 2t 2l | 12,460 12,010 450
OF2UXXa T2 08 A=Y  8,960,000& 8,960
OF2URNXAE 3d&FA =& 3,000,000 3,000
Os2s HMH 500,000& 500
s -2 g5 N2 185,310 129,980 55,330
301 LetEd = 185,310 129,980 55,330
068801 -t¥ES2d= 185,310 129,980 55,330
Oos&+4< 300,000& x12& »37H 133,200
Oos¥YM= 300, 000& *200%*37 H 22,200
OS&z F4+=g 20,0003 23| 123 »374 17,760
ogtaeEas 50,000& »243H 12,150
BMEX R RE2el 18,853 16,554 2,299
201 2er= Sl 18,853 16,554 2,299
01 At2 2t 2l bl 3,414 1,815 1,599
ORZH =8 195,000& 122 2,340
O3J18&8I Xz 72,800 x12& 874
O=2M1 3230 72 200,000 200
02 524t 15,439 14,739 700
O3EM =X 10,889
S83 Fa 180,000& 180
d - eI /X 600,000 600
BN AE B 2,271,000 2,271
AN HIlE 7,038,000& 7,038
A & - ol=E2 800,000& 800
oxtg =X 4,170
g RA(MIIIEE) 4,000,000& 4,000
g BIHHNLEREES 170,000 170
OXd sk =3 380,000 380
pEEs 29 4,014 3,576 438
201 fet23E | 4,014 3,576 438
01 At 22l bl 4,014 3,576 438
OUAMNA M 500,000 500
OclolM=gly &3 362,000 362
OdiolMzeld &Y 1,195,000% 1,195
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= o
A & 0l & AF 2 E A A
20209 = 20la LetsH WAEIS ~ 2E2S
2AM: s
g Ois d8=sXdE Jlgtdse
Sl WISXNME SHYAS CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ctoh1s 398,638 254,031 144,607
Cii1s HE=XME D8t st 297,005 223,346 73,659
HESAHEH 2GS 297,005 223,346 73,659
FURXE 22X 12,225 13,540 21,315
201 L2l 10,875 12,190 A 1,315
01 At 22l 10,875 12,190 A1,315
O XXz T2 ZA=Y 7,945,000 7,945
OFLUXXAAE sAFA = 2,430,000& 2,430
o222 M 500,000& 500
301 LEBAF 1,350 1,350 0
09 #HALAHIXI& 3 1,350 1,350 0
Og=¢l =223 M A 1,350,000& 1,350
s -8y 23 N 259,960 187,160 72,800
301 LEHZ 259,960 187,160 72,800
05 SE -0 -2 259,960 187,160 72,800
Os&E=+¢ 300,000& 52 x12& 187,200
Os&ddd= 300,000& x52H +23| 31,200
Os&3lo &2 20,0003 *23|«52H«12& 24,960
OFIPSEpag=, 25,0003 332 #23| 16,600
NS & xE2e] 17,943 16,647 1,296
201 et | 17,943 16,647 1,296
01 At 22l 2,743 1,477 1,266
ORodH =2 1,477,000 1,477
O3J18&F)| iz 88,800& x12& 1,066
OM1 BEAs8D ¢ 200,000 200
02 =224l 15,200 15,170 30
OFAr2tel 700
Hdotx A 150,000& 150
SY3 Fa 150,000& 150
Het I 7 X 400,000& 400
Oxg SX(MIIX Z&) 4,000,000& 4,000
O&AMN Hd= X 1,290,000 1,290
OFAL &Iz 7,930,000 7,930
OFA & -dt=&2 950,000 950
OFEAN A8 s =& 330,000& 330
DlART 2y 6,377 5,499 878
201 £B-2d| 6,377 5,499 878
01 At 22l 6,205 5,499 706
OQJANA H = 496,000& 496
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SA: CH1s
M 1S dE=KXHEH Jler2 3
Sel BEHSXME SHHA (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OdioldEZely =H 1,180,000& 1,180
OdioldEZely EY 1,730,000& 1,730
O=AMIEH 1,739,000& 1,739
OHAEH 964,000& 964
Odlz=ate =428 8,000& x12& 96
02 33294l 172 0 172
ORI EIIE LD OIHY AMEZ
14,300 x12& 172
=0 s 25 KA 500 500 0
301 et X = 500 500 0
12 JIEtE &2 500 500 0
OzF0 Xsgd g5 &I 24 500,000 500
HASHAY (CHU1sE) 101,633 30,685 70,948
Jl22Z bl 101,633 30,685 70,948
JlE23Hl 101,633 30,685 70,948
201 et A | 22,923 19,966 2,957
01 AFR22t2ldl 16,423 13,466 2,957
ORANEE=EH| 9,511,000& 9,511
OJlages8 2| 6,912,000 6,912
02 3524t 6,500 6,500 0
ORE=z 6,500,000& 6,500
202 04| 67,200 0 67,200
01 2LHO HI 67,200 0 67,200
OJleg2s+8uy| 280,000 20 x12& 67,200
203 &R =&H| 11,510 10,719 791
01 J|22HLRF=AH| 7,110 6,399 71
OJ|22d R =AY 7,110,000& 7,110
02 RIS R = XIH]| 800 720 80
OFAAINNMARFEY| 800,000& 800
04 2SI L RF=AH| 3,600 3,600 0
ORANEEYERFAH| 3,600,000& 3,600
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> A
H = 0 & AF & Z Al
20209 = 20la LetsH WAEIS ~ 2E2S
CUtHes
D Oies HE=SXAEH Jlgt2 st
D HEEXHUE 2SHAS (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
CiiHes 336,938 100,916
tHes FHSXMEH I8t 3 254,730 46,328
HESAHEH 2GS 254,730 46,328
FURXE 22X 36,220 A8,140
201 L2l 21,260 2,300
01 At 22l 21,260 2,900
O=x2 XXz T2 ZA=Y 8,960,000 8,960
OFLUXXAAS sdFA =2 2,600,000& 2,600
o222 M 500,000& 500
OFNSTHZ T2 294
40,0003 *2 A1 2t+10 x4 H 3,200
OX2EMZ 28| 1,000, 000& 1,000
OFUNIE SSHEZ2Y 2H(SSASES
S%3l) 5,000,000& 5,000
301 LEXZ 11,960 A 10,440
09 HALAHIX RS 5,000 A5,000
OF2XX3 Szl RI(SFSAHERE2
S%3l) 5,000,000& 5,000
12 JEEd=3 6,960 A5,440
OXSC M TUHASAXL HHEH
6,960,000 6,960
405 XHoHF S HI 3,000 0
02 =M=l 3,000 0
OFSENMZ TATE 3,000,000& 3,000
=By 235 NA 182,030 50,400
301 LPEAF 182,030 50,400
05 8% -0 -tH¥ESE4= 182,030 50,400
osd=¢ 300,000& x36H 122 129,600
OsZdNH=3 300,000& 36X »23| 21,600
Os&3lo &+ 20,0003 *36EH «12& *22] 17,280
ostazgas 25,000 271 »23] 13,550
EAMRA & IFE2e 31,258 3,586
201 ¢er24| 31,258 3,586
01 At 2t 2l 4,026 1,726
ORoAH ==& 150,000& »12& 1,800
OZ3J18&0| gdxxz 88,800& 123 1,066
OF=I SR (FA, A2=A2)
40,0003 «2CH+128 960
O2Md1 FFAsI F¢ 200,000& 200
02 2324l 27,232 1,860

_28_




COies

COlies HE=SXAEH JI8t2 5
t

P HI=TME SYUHAS

SN HH-S(BN) - MBAY - B il HlnE2

OF MR 700
o e - AR PN 700,000& 700
OXtg KX (X L& 4,000,000& 4,000
O&EAMN AHd=2 X 2,950,000 2,950
OFA H3EsAdE2 & 2,000,000& 2,000
oag 34 110,000& 122 1,320
O&AN A= 14,512,000 14,512
OFA & -dt=&2 1,000, 000& 1,000
O&EAN NERLRES 250,000& 250
OaUl A0 =& =& 500,000& 500

DR 29 4,722 4,240 482

201 et 4,722 4,240 482

01 At 22l 4,550 4,240 310
OBIJAMA M2 500,000& 500
OdoIMERIH & 1,000, 000& 1,000
OdoIdESH EUY 1,050,000 1,050
O=AMIIEU 1,100,000& 1,100
OHAEYH 800,000 800
OuEIHe =2 100,000& 100

02 8322l 172 0 172

O/ EIE &Il oIy

14,300& =128 172

=2 sgdy g3 N& 500 500 0

301 LprEE 500 500 0

12243 500 500 0
O=¢ s g3 & 500,000 500

HY2AHH (CIU2S) 82,208 27,620 54,588

Jl=234l 82,208 27,620 54,588

Jl23l 82,208 27,620 54,588

201 Ler2d| 18,268 17,407 861

01 At 22l 13,268 12,407 861
ORN2E=EHl 7,738,000 7,738
OJI2ge8 22| 5,530,000 5,530

02 8323l 5,000 5,000 0
oz 5,000,000& 5,000

202 odl 53,760 0 53,760

01 = LH o4 1l 53,760 0 53,760
OJl2ge=a8 0l 53,760,000 53,760

203 2R F A b 10,180 10,213 33
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2AM: CU2s

M HH2HAH (CHHH2S)

& 123l (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

01 /122 =4 5,940 6,613 AB73
OJlZ2g Y28 5,940,000& 5,940

02 It =&Y 640 600 40
OIS R =& 640,000& 640

04 FN2ELRZTH| 3,600 3,000 600
ORAM2IYRFLHI 3,600,000& 3,600
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N = 0] &F AF S & AN A
2020 & =20 A LB H T/ IS ~ dHE2S
2N PES
My AEE AWSNME BB
Sl BISXNME 2SYUAS (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
FES 155,287 100,734 54,553
HS dE=2SXMEH DJ|BH2 S 102,601 83,331 19,270
HE=EXHEH 2 UA S 102,601 83,331 19,270
FOXX3 2IEEX 10,745 13,510 AN2,765
201 2Et2Hy| 10,745 13,510 N2,765
01 AP 2t 2] H| 10,745 11,710 965
OFXXE T 2AISE 7,945,000 7,945
OFOXXNAKZ 3o &A XE 2,300,000 2,300
OE2sE NE 500,000& 500
s -BtE g I 70,720 51,120 19,600
301 et M= 70,720 51,120 19,600
0D SHE -0 -BHEESEM= 70,720 51,120 19,600
Os&4+¢ 300,000 x14H «12& 50,400
Os&dANHZ 300,000 x14H x23| 8,400
OSHF 9 EARG 20,0003 x14H x 128 23] 6,720
Ot A= 25,000 «104H x23| 5,200
HASX & X2 17,754 15,551 2,203
201 LBt Y| 17,754 15,551 2,203
01 AP 22| d| 3,142 1,769 1,373
O8201&Y =42 1,769,000 1,769
O2JI8&D| dxz 97,700 x12& 1,173
O8Md1D HEAs) ¢ 200,000& 200
02 22244 14,612 13,782 830
O ALZE] 645
Helx HA 257,000 257
=843 A 88,000 88
Wetet)| X 300,000& 300
OXg X (201) 4,400,000& 4,400
OFAN 222 81X 2,477,000 2,477
OFA D& 6,000,000 6,000
OFEAL & -Gt 600,000& 600
OXtgy SEMEREE 2 160,000 160
O&H =52 =X 330,000& 330
plEED 2y 2,882 2,650 232
201 £Bt24 | 2,882 2,650 232
01 AP 2t 2| H| 2,710 2,650 60
O0l& A M2 390,000& 390
OdioldEzHeH 2 500,000& 500
OdolHESEH EY 580,000& 580
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